Review : RationalNumbers Nom: AY\SW b K‘Q\‘/

Math 9 Block : Date :
1. Write the rational number represented by P on the number iine(as a decimap N
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2. Write the rational numbers represented by R and Q on the number line, as decimals.
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3. Write the rational numbers represented by B & C on the number line, as fractions. Ealhh
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5. Find the sum.
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6. Find the sum.
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7. Estimate if the sum is greater or less than 0.
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8. Estlm%?e is the sum is greater or less than 0.
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9, Find the difference.
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10. Find the difference.
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11. Which expressions have negative answers?
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12, Find the product.
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13. Find the product.

14, Find the sum.
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15. Find the product.
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16. Simplify.
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17. Find the quotient. _
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18. Find the quotient.
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19. Find the quotient.
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20. Which operation will you do first?
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22. Evaluate.
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23. Evaluate.
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24, Evaluate to the nearest hundredth
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25. a) Show the numbers on the number line.
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26. a) Without adding, determine which expression has the smallest sum. Explain your choice.
i) —10.5+2.7+(-5.5)
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